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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

7.

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.

1) inevitable 2) intangible 3) unforeseecable 4) unsentimental

I don’t really think I’d have the ---------- to finish a marathon!

1) concern 2) candor 3) endurance 4) autonomy

Her marriage started to improve once her husband finally ---------- he had an anger
problem and bhegan to take counseling.

1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function.

1) proceeds 2) requires 3) fascinates 4) conveys

Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.

1) refuge 2) remedy 3) paradox 4) vacillation

I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.

1) genuine 2) definitive 3) secretive 4) artificial

The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.

1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.

1) stabilized 2) hampered 3) diversified 4) veritied

Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.

1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we

currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs



PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
(12) ---------- the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ------—---- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) ---------- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4)in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) 1s the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

One important bioproduct, when the replacement of petroleum derivatives is considered,
is bio-lubricants. It is well known that most lubricants cause a negative impact on the
environment. However, bio-lubricants produced from vegetable oils can efficiently
replace the more traditional fossil lubricants. In addition, bio-lubricants decompose within
one year through natural degradation, and can be treated appropriately in landfills.

The enzymatic manufacture of bio-lubricants can be catalyzed by lipases under
mild reaction conditions with high selectivity, diminishing the production of
intermediary residues. Enzymatic processes can overcome some issues of the usual
chemical route, such as the high reaction temperature (up to 200°C), the use of strong
acids as catalysts, the lower selectivity, the manufacture of undesired byproducts that
cause corrosion of equipment, and the production of acid wastewaters. Besides,
enzymatic processes that use vegetable oils as substrates also result in high
performance bio-lubricants, which show excellent lubricity and biodegradability
properties. Some of these bio-lubricants are available commercially.

A specific class of bio-lubricants is estolides. The enzymatic manufacture of these
esters uses vegetable oils as a substrate, where the hydroxyl groups of one ricinoleic



17-

18-

19-

molecule can be esterified with the carboxylic group of another molecule. Because of
their outstanding biodegradability, lubricating, and low temperature properties, interest
in estolides has grown significantly.

It’s stated in the passage that bio-lubricants ---------- A
1) are inherently biodegradable

2) remove pollutants from the environment

3) are produced from vegetable oils within one year
4) have been recently replaced by fossil resources

The word “treated” in the last line of paragraph 1 means ----------- 2

1) covered 2) divided 3) altered 4) processed

The enzymatic manufacture of bio-lubricants can control and solve all of the following
BUT ---------- :

1) diminishing the corrosion of equipment

2) reaction conditions with low selectivity

3) using a strong acid as a catalyst

4) production of undesired intermediary residues

Estolides, according to the passage, ----------

1) accelerate the decomposition of bio- lubncants

2) are used as the substrate in some unique class of bio-lubricants
3) have many advantages compared with bio-lubricants

4) are the products of the reaction of a mild acid with vegetable oils

Lipase, as stated in the passage, is a/an ---------- .

1) enzyme 2) vegetable oil

3) byproduct 4) artificial catalyst
PASSAGE 2:

Industrial biotechnology is one of the most promising new approaches to pollution
prevention, resource conservation, and cost reduction. It is often referred to as the third
wave in biotechnology. If developed to its full potential, industrial biotechnology may
have a larger impact on the world than health care and agricultural biotechnology. It
offers businesses a way to reduce costs and create new markets while protecting the
environment. Also, since many of its products do not require the lengthy review times
that drug products must undergo, it's a quicker, easier pathway to the market. Today,
new industrial processes can be taken from lab study to commercial application in two
to five years, compared to up to a decade for drugs.

The application of biotechnology to industrial processes 1s not only transforming
how we manufacture products but is also providing us with new products that could
not even be imagined a few years ago. Because industrial biotechnology is so new, its
benefits are still not well known or understood by industry, policymakers, or
consumers.

From the beginning, industrial biotechnology has integrated product improvements
with pollution prevention. Nothing illustrates this better than the way industrial
biotechnology solved the phosphate water pollution problems in the 1970s caused by
the use of phosphates in laundry detergent. Biotechnology companies developed
enzymes that removed stains from clothing better than phosphates, thus enabling
replacement of a polluting material with a nonpolluting bio based additive while



21-

22-

24-

25-

improving the performance of the end product. This innovation dramatically reduced
phosphate-related algal blooms in surface waters around the globe, and simultaneously
enabled consumers to get their clothes cleaner with lower wash water temperatures and
concomitant energy savings.

The author of this passage wants to ---------- i

1) illustrate the importance of environment in industry

2) outline the major achievements of bio-industrial processes

3) persuade people to consume products made with industrial biotechnology

4) define industrial biotechnology as a new phenomenon in conserving the environment

All of the following are the benefits of industrial biotechnology EXCEPT ---------- ‘

1) promising approaches to new businesses

2) decreasing the expenses of manufacturing

3) minimizing energy consumption

4) helping save our natural resources

The phosphates, according to the passage, ---------- .

1) are the main water pollutant during 1970s

2) get the stains out of clothes

3) develop enzymes that make doing laundry more effective

4) are additives while improving the performance of the end product

The word “integrated” in paragraph 3 can be substituted by ---------- :

1) combined 2) derived 3) considered 4) strengthened

Which sentence, according to the passage, is correct?

1) Industrial biotechnology acquires us products that their applications are still unknown.

2) The longer review time, the easier pathway to the market.

3) The new drug products require a review time up to half a decade.

4) Transformation the way of manufacturing products is the major innovation of bio
industry.

PASSAGE 3:

Biopulping is the fungal pretreatment of wood chips for production of mechanical or
chemical pulps. Its concept is based on the ability of a restricted number of white-rot
fungi to colonize and degrade selectively the lignin in wood, thereby leaving cellulose
relatively intact. This process appears to have the potential to overcome some
problems associated with conventional chemical and mechanical pulping methods.

Electrical energy is the major cost of conventional mechanical pulping. By
producing stronger pulp with longer fibers and increased fibrillation, biomechanical
pulping may reduce the amount of Kraft pulp required to increase pulp strength. Some
selected lignin-degrading fungi can alter cell walls of wood in a short period after
inoculation. Fungal pretreatment reduces the pitch content in the wood chips and
improves the pulp quality in terms of brightness, strength, and bleachability. The
bleached biopulps are easier to refine than the reference pulp. The process has been
scaled up toward industrial level, with optimization of various process steps and
evaluation of economic feasibility. The process can be carried out in chip piles or in
silos. The biochemical mechanism of biopulpling is still mostly unknown.



27-

28-

29-

30-

It is, however, likely that the biopulping effect is caused by the lignin-degrading
system of white-rot fungi. There has been quite little correlation between removal of
specific components of the wood by the fungi and efficacy of the fungal pretreatment
in either energy savings or paper strength property improvement. Biopulping
technology has advanced rapidly within recent years. This technology coincides
perfectly with environmentally safe production strategies and can be implemented in
existing production plants without major changes.

Biopulping, according to the passage, ---------- X

1) results in the increase of the cellulose in wood

2) develops to reduce the consumption of wood resources in conventional pulping
3) consists of using fungi that decompose lignin

4) limits the use of mechanical energy in operations

The word ““alter” in paragraph 2 is closest in meaning to ---------- 5
1) change 2) protect 3) thicken 4) join
In biopulping, the more pulp quality, ---------- :

1) the shorter period of wood degradation 2) the less amount of Kraft pulp
3) the less pitch content in the wood chips 4) the softer pulp for refining
Biopulping operations ---------- i

1) relate strongly to removal of specific components of the wood

2) lead to advances in technology in recent years

3) depend mostly on electrical developments

4) are divided into mechanical processes and chemical ones

Which sentence, according to the passage, is NOT true?

1) Economic feasibility study can help to industrialize processes like biopulping.
2) The biopulps without color are much easier to refine.

3) The biopulping mechanism is fully known as yet.

4) Conventional pulping uses a great deal of electrical energy.
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4 114 2 144
2 115 3 145
3 116 2 146
4 117 1 147
1 118 3 148
3 119 2 149
4 120 2 150
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Qw0 Jlguw Jlgww
b 271 A 301
b 272 b 302
Sadw 273 b 303
RS 274 i 304
b 275 b 305
Sadow 276 Sadow 306
W) 277 A 307
b 278 i 308
Sadw 279 b 309
W) 280 VoW 310
b 281 b 311
Sadw 282 b 312
b 283 VoW 313
b 284 b 314
Sadow 285 b 315
W) 286 VoW 316
b 287 b 317
Sadw 288 b 318
b 289 VoW 319
b 290 b 320
Sadw 291 b
b 292 .
b 293 b
et 294 b
Subw 295 b
b 296 b
Sadw 297 b
Subw 298 b
b 299 b
Qb 300 s
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Jlgw Buxo
151 b
152 b
153 b
154 b
155 b
156 b
157 b
158 b
159 b
160 b
161 b
162 b
163 b
164 b
165 b
166 b
167 b
168 b
169 b
170 b
171 b
172 b
173 b
174 b
175 b
176 b
177 b
178 b
179 b
180 b
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